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1(a) Whatis Software Testing? Why is it so important in SDLC? [06] CO1 L1
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(b)

Explain IEEE error and fault taxonomy.

Table 1.1 Input/Output Faults

Type Instances

Input Correct input not accepted
Incorrect input accepted
Description wrong or missing
Parameters wrong or missing

Output  Wrong format

Wrong result

Correct result at wrong time (too early, too late)

Incomplete or missing result

Spurious result

Spelling/grammar '

Cosmetic

Table 1.2 Logic Faults

Missing case(s)

Duplicate case(s)

Extreme condition neglected
Misinterpretation

Missing condition

Extraneous condition(s)

Test of wrong variable

Incorrect loop iteration

Wrong operator (e.g., < instead of =)

Table 1.3 Computation Faults

Incorrect algorithm

Missing computation

Incorrect operand

Incorrect operation

Parenthesis error

Insufficient precision (round-off, truncation)
Wrong built-in function

Table 1.4 Interface Faults

Incorrect interrupt handling

170 timing

Call to wrong procedure

Call to nonexistent procedure
Parameter mismatch (type, number)
Incompatible types

Superfluous inclusion
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2 ()

Differentiate between Structural Testing and Functional Testing, explain using Venn

diagram.
Specificetion Program Specificativa Program Specificaion Program Specification Program
Test Cases Test Cases Test Cases Test Caves
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(b)  Explain testing life cycle with a neat diagram. [04]
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3 (a) Justify the usage of Boundary Value Analysis with function of two variable and perform  [10]
Output BVA on Commission Problem.
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4 (a) Discuss the pseudocode of Triangle Problem and perform decision table approach

testing.
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5(@)

6 (a)

Explain SATM (Simple Automated Teller Machine) system.

Please Insert your
ATM card for service
- =

( Screen 4 i

Invalid identification.
Your card will be
retained. Please call
the bank.

>,

( Screen 7 =N
Enter amount.
Withdrawais must be
in increments of $10

\Press Cancel if Error/

( Screen 10 W

Temporarily unable to

process withdrawals.

Another transaction?
yes

\_ ng/
( Screen 13 \

Please put envelope into
deposit slot. Your
balance will be updated

kPrass Cancel if Erroy

The valid range of values are

- Screen 1 ) na )
Enter your Personal
Waelcome. Identification Number

\_ Press Cancel if Error /

rs Screen 5 )

elect transaction type:
balance
deposit
withdrawal
Press Cancel if Error

5

s Screen 8 R
Insufficient funds.
Piease enter a new
amount.

( Screen 11 B

Your balance is being
updated. Please take
cash from dispenser.

-~ _/

( Screen 3 )

Your Personal
identification Number
is incorrect. Please
ry again.

N
( Screen 6 e
Select account type:
checking
savings

Ccess Cancel if Erroy

& Screen 9 =N

Machine cannot
dispense that amount.

Please try again.

\

Temporarily unable to
process depousits.
Another transaction?

yes
\_ no/

( Screen 12

Screen 14

Your new balance is
printed on your receipt.
Another transaction?
yes
no,

( Screen 15 2

Please take your
receipt and ATM
card. Thank you.

.. /

MI = [month : 1 < month € 12)
D1 = {day : 1 < day < 31|
Y1 = lyear : 1812 < year < 2012)

- CaselD ~ Month ™ Day ~ Vear " Expected Output

Perform Equivalence Class Testing on Next Date function and derive the test cases.

e ———————

WNT, SN1

b6 15 1912

—

616/1912

[10]
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e

Case ID  Month Day VYear

h
Expected Output

WRT
WR2
WR3
WR4
WR5
WR6
WR7

6
1
13

b
b
b
b

15
15
15
-1
32
15
15

1912
1912
1912
1912
1912
1811
2013

6/16/1912

Value of month not in the range 1..12
Value of month not in the range 1..12
Value of day not in the range 1.31

Value of day not in the range 1.31

Value of year not in the range 1812..2012
Value of year not in the range 1812..2012

E

Case ID  Month Day Year Expected Output

SR2 6 -1 1912 Value of day not in the range 1..31

SR3 6 15 1811 Value of year not in the range 1812..2012

SR4 -1 -1 1912 Value of month not in the range 1..12
Value of day not in the range 1..31

SR5 6 -1 1811 Value of day not in the range 1.31
Value of year not in the range 1812..2012

SR6 -1 15 1811 Value of month not in the range 1..12
Value of year not in the range 1812..2012

SR7 -1 -1 1811 Value of month not in the range 1..12

Value of day not in the range 1..31
Value of year not in the range 1812..2012

(b) Briefly explain the difference between

i) Weak Normal and Strong Normal Equivalence Class Testing.
ii) Weak Robust and Strong Robust Equivalence Class Testing.
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